Series JMS/1 | SET-3

e - 3901/3

qe 7. qiiereff s H IW-Yfeew & qa-
Roll No.
I8 W 7ayy ford|

Candidates must write the Code on
the title page of the answer-book.

ST SiTe o o 59 - 7 gf%a U8 1041 W E |

. gH-uF § R g1g 3 Ry T Ae TR R 9 IW-gfEE & gE-98 W
ford

o AT SIS A R 9 T | 26 T &

« FHUAT AT T I FAGHAT & A & TEHA, WA T ik rayd ford |

. 30 YT-UF F Yot ¥ ¢ 15 fee o aw fmm e }1 we-ua o e gt 4

10.15 9t TR S| 10.15 & & 10.30 5 o ST el JTH-TF Fl Gei 3R

36 3Ty % G 3 IR W IS I el fora|

« Please check that this question paper contains 10 printed pages + 1 map.

+ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

« Please check that this question paper contains 26 questions.

« Please write down the Serial Number of the question before attempting it.

« 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

gt fasm

SOCIAL SCIENCE
Reffa a7 : 3 v S7ferHeH 3% : 80
Time allowed : 3 hours Maximum marks : 80
ERE
[=]

[P.T.O.



https://amzn.to/3OFHQkO

qraT=y [3397:

(i) 39 ¥7-97 ¥ aR @Sl 7 favifsra 13371 797 8; @ve &, @vs @,
GvE T 3R GUE q/
(ii) 39 J¥7-Y7 5 37 26 T8 |
(iii) Gt 3¥7 arfAard 8/
(iv) Fed% Y97 & 37 3G% G 130 71T &)
(v) Y97 G&I7 1 8 7 T 3 TG-I707 97 &) I J97 1 3% F 8|
§74 @ gl 39 1 IR 30 F155) & 374 F1 78] 817 <o |
(vi) 59 G&IT 8 @ 18 TF I9F Y97 3 3% #1 8| 377 @ Y% Fv7 F1
I 80 1551 @ e F1 Tg1 &I AT/
(vii) 97 G&IT 19 T 25 T J9F J97 5 3 #1 & | 379 & Fedah 7 &
IR 100 Y1551 @ 3ifere: 7 78 &1 =3Y |
(viii) Y7 G&IT 26 AT F97 5 3% F1 8| 39% @ 91T & 26(A) 3K
26(B)1 26(A) 2 37% F7 glaera & a=7 26 (B) 3 3% & YT &
81 T 7 397 QUf 517 T 38 3771 IT-YIKAFHT & 37aT e F
General Instructions :

(i) The question paper is divided into four sections; Section A,
Section B, Section C and Section D.

(ii) The question paper has 26 questions in all.

(iii) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are very short answer type
uestions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
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Answers of these questions should not exceed 80 words
each.
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(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words

each.

(viii) Question number 26 is a map question of 5 marks with tw

o

parts— 26A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the maps inside your

answer-book.

WUE-&
SECTION-A

ST & §1 & SIS ol qohei1eh il TR G357
HAAAT
- &l srwredl # ergae ufshan 3 SuE Al AwE F SR #
Gl i ¢
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?

194t SrefTed o 0 A9 & S & | “Ianare’ shi e i
atera
WeRNT Seal & & TTeien forehmd § Siefeal & AT h STea hifs|

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region.
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What may be a goal of landless rural labourers regarding their
income?

' OR
What may be a goal of prosperous farmer of Punjab?

4. TSHITG 391 G SAeheifeh GHR fhe YR e ST e €7 1

How can democratic reforms be carried out by political parties?

5. uste | 3f s y-frefieor & foe S soerh 27 1
HYAT
Hitie 3am - frefieor & foe @ swerh 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

6. ‘Wufe R ‘Fefiuen’ @l # v ww v 1

Distinguish between ‘primary’ and ‘tertiary” sectors.

7. WA | ST &5k ST 1 e T8 I | 1

Explain the importance of formal sector loans in India.

Qus-"
SECTION-B

8. ‘et v g i ot i vy fosiaradt @ aviy i) 3x1=3
HAAT
Tl v g i ol i g farsened s gt i
Describe any three main features of ‘Rabi crop season.’
; OR :
Describe any three main features of ‘Kharif crop season.’
|

9. Afer i e i wrefteft e % srefia i & for wopm oy foeat

Y TR Ffga sqTEd i) 3x1=3
3Tt
10
o]
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foraam Y anffss v 3 fore Rmer 9 srared 6 serwm gfig
RS HISU

How had Napoleonic code exported to the regions under French

control ? Explain with examples.
' OR

Explain with examples the three barriers that are responsible to

economic growth in Vietnam.

10. =it TSI fohe TR 9 99 % gisd Tl 1 Geld 92 Icq1Eeh o
@17 ISR Hied e shifsu | 3x1=3
arora
79 Fefe Tt & AN ST R e |t % foae gesr @
IqsY Bl T A7 IaTewn wfed sHmen A

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

11. ‘S gAwan % 9T a1 fergersor ifsg : 3x1=3

Analyse the impact of ‘water scarcity.’

12. “‘“waferer ¥ fimee & gitom e ok a5 danett #1 wae w2 v @
3G Y I ATIETT SEULT | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”” Justify the statement.

13. 9Rd # ‘qeliash & weaqul w1 8 Wi 87 et o ot Y s
hife | 3

ot <w1 o weoher e 3eng (SRLEf) I w0 & o fafy agatt
SR HaTedt it TUHT B HH a8 7 IS Fied T IR
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Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.

OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

14. Mﬁmﬁ%%mWﬁmﬁml 3x1=3

Explain any three functions of opposition political parties.

15. S ST ‘afufd Fam’ % s w5 e R S
&7 JaTet wfed smen Hifv 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

16. “ﬁmﬁhwﬁm%mﬁmmﬁﬁmaﬁwaﬁémwmm%
aﬂtwnﬁﬁrm%l”aﬁa%ﬂwmmaﬁgﬁzﬁﬁm 3
T
“mﬁmﬁwmﬂﬁfaﬁwmﬁam%l”wm?ﬁwﬁﬁm

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

17. "o # STt % e @ Aivensit R § g guw gen 2, T
it st geul & Hrh oD ¥ v o v e i | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

18. Jnrfsier forhrer # o1 3 it Bl 3 He it avh A 3x1=3
| arera
Wm%@ﬁwmﬁm@mﬁﬁmwaﬁﬁﬁql

S
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Describe the importance of formal sources of credit in the

economic development. :
OR

Describe the bad effects of informal sources of credit on borrowers.

TUE-T
SECTION-C
19. ““9Ra # TS ied, Tol YiEed s 3TUar Ao Glaersis 81’ e
= Ierewn wfga giE FHifw) 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

20. fefa, maﬂiwﬁﬁmq@aﬁ%mmméﬁwﬁmﬂmﬁ
fearfa it qen sl 1+1+3=5
T
TTRET o fora 8 A STET? g &9 9 Seford G Y areier
fafirm et &t samen i)

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

21. ‘TR SGEU o Uid YeRI shi SATEAT hIf| 5x1=5

Explain five types of ‘industrial pollution.’

22. 1930 ¥ frua efedi = ‘< ot weifrem’ @ onfsa fran? 3eht
IUGSRIAT T Ui hifeTT| 1+4=5
AT
‘gfea srag HeeH’ wse i afenfyg fifsw| afemg e e’
T ot o i foram et St wrwifirar 1 avia i)

= EEE
O £iim
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Who had organized the dalits into the ‘Depressed Classes
Association’ in 19302 Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

23. ‘et yraredt Y favy anfwawwwaamﬁwmﬁuwﬁ@
HEH {Heh 3FeT 1 oft|” 9 o w5t Fverr Hifdr) Sxi=5

‘Wm%mmﬁmﬁmmwﬁm
1 =92 § 311 g o011’ 36 e it Rvew Dy
HYAT

‘afygfe et § SRR 3 Eehon 3 T 0 e Yo wre )
e o o waed & 5@ s ot fweo Hif|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

24. mwmﬁmﬁmammmwmﬁ
HTeh T FU HIffT| 5x1=5

Describe any five factors that make democracy is a better form of
goviernment than other alternatives.

25..%&&%#%%#%@%@@8@%%%
%ﬁwaﬂfﬁfméﬁﬁmﬁﬁﬁﬁagﬁmﬁﬁmﬁﬁm 5x1=5

2
[=] st
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Explain any five facilities available in the special economic zones
developed by the Central and State Governments to attract foreign
investment.

Que-v (AHRE 991)
SECTION-D (Map Question)

26. (A) @ @& A 3R B fiu mu wwd & veHifas er-nmf J sifed
for T ¥ 37 @Eit o fefeiad ST i gEE ¥ qEehy
3R 3% Tt A wEfE ) e 78 et W fafae- 1x2=2
(2) 9% T el WIS THT H1E HT A g
(b) € TR STEl Steratarer ST shi =eT g3
(B) zeft fou o v % v Yar-amte § frefafea & @ el
o =Y Sus forgl @ guTien 3t 3 A fafa: 1x3=3
(i) heraesh — U el 997 6
(i) fosrmm - <ig 3R 39T 9=
(iii) T ~ WFAT SHATATSIT Teh
(iv) I - EE '
(v) GER TR - 91y
Me: el yo haer givamfim udenfeat & fog se wen 26 %
T X foredl uter a1 3 4T - 1x5=5
(i) 39 T o A fafae sEt stiermtaren sw s we g |
(i) 38 Ty o1 W fafgn st niefsh 3 Swe e’ are
(i) 39 T w1 A fafge sl -’ ge afea g
(iv) 38 T o1 A forRae st ardty wE v ferd 2|
v) 3 Uy o1 AW foifae st foser der-sea gas ferd

. H
(vi) 39 ST w1 9 foaflaw Sl Aiver dfesst Sarrs aweh
fedra 21
(vii) TER TR sty foher Tt e 87
EFE
o)
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(A) Two features A and B are marked on the given political outline

(B)

Note :

32/1/3

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(i) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(1)  Name the state where Jallianwalla Bagh incident took
place.

(i) Name the state where Gandhiji violated the Salt Law.

(i) Name the state where ‘Chauri-Chaura’ incident took
place. ;

(iv) Name the state where Paradeep Sea Port is located.

(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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